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SECTION - |
MATHEMATICS

! riangle whose | 1
The perimeter of an equilateral triang |

areais 4y 3cm°is equal to
{A) 20 cm (8) 10 cm
(€) 15cm (D) 12 cm |

tan 3A -tan 2A - tan A is equal to
(A) tan 3A -tan 2A -tan A
(8B) tan3A +tan 2A +tan A
[0 tan3A-tan2A-tanA

{D) None of these

3 729 .
The value of ~ 15

\ 0.4096
(&) 5625 (8) None of these
{0 5.652 (D) 5.265

If7 1= the mean of 5, 3, 0.5, 4.5, 3, 8.5, 9.5 then | 4.
the value of 2 1s

{A] 45 (8) 18

0 31 (D) 12

The value of sin & + cos(90 + ) + sin(180-8) +|5
sin (180 + 8) s

A0 ® —1

01 o)1

2

The volume of a cuboid s x3—7x + 6, then | 6

the longest side of cuboid is

(4) None of these (8) 5 _ 1

() x+5

{D] x — 2

(T

;

tan 3A - tan 2A . tan A &R ®
(A) tan 3A - tan 2A - tan A

(8) tan 3A + tan 2A + tan A
(© tan 3A .- tan 2A - tan A
©) s A PE TE

21 722 1AM ®
0.40%96

(A) 5625
(€) 5.652

(B) 399 | B T

(D) 5.265

5, 3, 0.5 4.5, a, 8.5, 9.5 &I AT 7 T,
al oy B OAA R
(A) 49
(€ 31

(B) 18
(D) 12

Sin 8+ Cos(90 + B) + sin(180 - @) +
sin (180 + g) &1 H9 & -
(A) o (8) —1

D) 1
2

() 1

A T F R XP_7xt+6 8L
9 B R ot e @ -

W T d P Tt
(8) x —1
Py ——



If 5 5 x 5% = 5732 _ 52*2 then the value of

ais

(A) 8 (B) §

(€ 6 (D) 4
8 AT

The value of | bt

\! 1-sinx

{A) tanxy —secx (B secxy —tanyx

O secxy -tanx (D) secx +tanx
@ i 2% = 5¥ = 107°% then the value of

e

(A) 2 {B) 5

Q0 (D) -2

‘e The volume of cylinder is 448 m cm3 and
height 7 cm. Then its lateral surface area is '

7

aﬁ 5 5)(53;5"3!2:5"’2 a d aﬂ.
L1

(A) 8 (8) 5

() g (D) 4

1+sin x &1 94 g ~
1-sinx

(Altan x — sec x (B)sec x — tan x

(O secx -tanx (P)sec x + tan x

aﬁ zx — 5}’ - ]_0“z _b'm a‘r
(3 &2y i)aﬂ T § -

x ¥y z

(A) 3 () 5

€9 o (D) -2

U dWgd ddd B dFad
448 mem® IR BSA1 7 cm &, A Sw@

W 259 em? (8 352 cm? ‘ a% YS FT B 2
) A
Q 252 amn*® (D) None of these @ 259 cm? ® 352 om?
© 252 em? (0) Hig &
. The value of tan 15%is M tan15° B AE © -
- [
W 2.3 . 2 W 2_y3 o) 2
V3 V3
© 1 © 3.3 (€) 1 D 2443
2V3 2v3
2. The value of cos20° cos70° — sin20° |12 4520° cos70° - sin20°
sin 70° . sin70° mami-
(A) o (8) None of these (A) o () 39 A DI Tl
1 )0 € 1 o) o
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13 Ravi can do
many days Ravi can finish the 14 work ?

(8) None of these

(D) 6 days

(A) 7 days
(C) 8 days

14. The L.C.M. of 12x2y322 and 181’4}722355

(A) 21xyz ® 36x*y3z?

© 24x*y?z’ ) 32x*yz’

15 Vertex of a triangle are (4, 6), (2, -2) and (0, 2),
then co-ordinates of its centroid must be
(A) (2, 3) (8) (1, 2)

© (-2,2) D) (2, 2)

18 Use the following figure to find x= and *©

x = 50°,y = 30°
x = 30%y = 50°
x = 50°%y = 60°

(0) x =55°y = 65°

17 If the ratio of volumes of two spheres is 1 : 8
then the ratio of their surface areas is ’
(A)1:6 (8) 1:2

©1:4 ©)1-8

L

34 of a work in 12 days. In how |13 I

%qmmmﬁ:ﬁﬁaﬂmgl

ar y% H & A W B BT Ry
T2

7 &= (8) 3TH A B 7F
0 8 fa= o & fa=

12x2y3z? AR 18x*y?z® BT AWW g

(A 21xyz (8 36x*yiz?

(@ 24x*y?z? (0) 32x%yz3

uﬁﬁﬂﬁrﬂi‘eﬁﬁﬂi_ﬁ'&?ﬁmu, 6).

(2, -2) ¥R (0, 2) B T TP FTP &
frédwis 8
(A) (2, 3)
© (-2, 2)

(8) (1, 2)
(0) (2, 2)

ﬁqwmﬁxcmy':a;qﬁg'

(A) x =50°y = 30°
8) x=30°y=50°
© x=50°y = 60°
©  x =55y = 65°

uﬁﬁ‘ﬁ?ﬂ'ﬁimﬁ18ﬁ
ﬁmﬁr,a’rmmwﬁm
(A) 4
(€ 14

¥ 8
¥4

(B) 1 : 2

(D) 1 : 8



18 The on% 24,000

compounded semi-annually for 1 é years at the

compound interest

rate of 10% per annum are

(A) X 3,783
(€) ¥ 3,583

(B) ¥ 3,774
(D) ¥ 3,780

19. The sum of two numbers is 11 and their

product is 30, then the numbers are
(A) 8,3 (8) 7,4

(€ 6,5 (D) 9, 2

20. In figure £BAP = 80° and £ABC = 30°, then

£AQC will be

18.

2 24000 @ 10% d® &< @ & A
12 af @1 a=re Rean €M, S4fe @S
g BHE 2T ST 9| & 2

(A) ¥ 3,783 (8) T 3,774

(© T 3583 (D) ¥ 3,780

gfe & demst &1 oA 4, AR SHEEr

TGS 30 I, O T Bl -
(A) 8, 3 (Bl 7, 4

© 6, 5 (D) g 2

3 ¥ ,pap—=380° 3R ,aBc-=300 @
£AQC T WIF B

() 55° @ 110° (A)
© 50° (b) 65° © 50° )  65°
2t Two  straight lines 3x-2y=5 and |21 Q1 WRe @R 3x-2y=5 3R
2x+ky+ 7 =0 are perpendicular to each 2x+ky+7=0 P qvﬁ R J9 & a k
other. The value of k is Calk: G i
(A 1 ® 4 @ 1 ® 4
3 3 3 3
(c) E (D) 3 () 3 (D) 3
2 2
|
|
|
|
S — Page: 5 354995
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23

[

A Verandah of area 90 m? is around a room

of length 15 m and breadth 12 m. The width of
the Verandah is
(A) 1.5m

(€) 25m

(B) 2m

(D) 1 m

If points (5,5),(10,k) and (-5,1) are

collinear. Then the value of k is
(A) 9 (B) 6

(€) 8 (D) 7

The value of ]og: (;5) is
12

(8) 3
(D) O

(A) 5

@ -3

In the given figure, the value of #DEC is

el Ao
A C B
(A) 65° (B) 75°
[C) 55° (D)} 45°

The factor of (a*b* — 16¢%)is
(A) (2*b? — 4¢?)? (ab + 2c)(ab+ 4c)
(8) (ah? — 4c?) (ab+ 2¢)?

(©) (a’b® + 4c?) (ab+ 2¢)(ab— 2¢)
(0)4(a*b? + ¢*) (ab— 2c)(ab+ 2¢)

22.

24,

15 maﬁsﬂ?mmﬂﬁm%ﬁ
dR gom? AP I T& T § o

_Fe Pl dAlSls ©

(A 1.5 m B 2 m

© 25 m @ 1m

o &g (5,5),(10k) M (_s5 4
IET 8, A k BT A R

(A) 9 (B) ¢

() 8 (D) 7

logs (1_}5) FT AM B -

(A s (® 3

€ =13 (D) o

.-\..)\I)
\ ) I /')
Ne WA
A \L‘-"'/ B
(A) 65° (8) 75°
(€) 55° (D) 45°

(a*b* — 16c%) P HETS &
(A) (a’b® — 4c?)? (ab + 2¢)(ab + 4¢)
(8) (a’b? — 4c?) (ab+ 2c)?

(©) (a%b® + 4¢?) (ab+ 2¢)(ab— 2¢)

(D)4(a’b?* + ¢*) (ab— 2¢)(ab + 2¢)
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27

28.

31

The Quadratic equation, whose roots are
2N and VT

2 2
(A) 4x°+16x+9=0

(B) 4x>—16x—9=0
(©) 4x*—16x+9=0
(D) 4x°+16x-9=0

A train passes telegraph post in 40 seconds
moving at a rate of 36 km/h. Then the length of
the train is

(A) 400 m (B) 395 m
(C) 500 m (D) 450 m
If side of cube is 6 cm, then the diagonal of

cube is

(A) 32 em B) 6v3 cm

© 6v2 em ®) 23 em

Angles of a triangle are in ratio of 1 : 5 : 12, ] 30.

biggest angle of this triangle is

AR R whew o

++47

rJ

IR ATV ar Wl e
2
(A) 4x? +16x+9=0

(B) 4x—16x—9=0
(@ 4x?—16x+9=0

(D) 4x*+16x-9=0

U6 YA fedi e de @ 40
APTS H 36 km/h @ a1 T IR Bl
g, @ M B TS §

(A) 400 m (B) 395 m
(€©) 500 m (D) 450 m

e o @ g 6 W A A w @
fawot &

A 3v2 cm B 6v3cem

©  6V2em @ 2v3cm

Th A & DO B IJAUEG 1 5 ¢ 12 &

A A P A G BT § -

AV

(A) 60° (B) 120°
© 90° (D) 45° (A) 60° (B) 120°
( 90° (D)  45°
if sinx+sinx=1, then the value of |31 Ifg dnrssmir=y, W
cos®x + cos*xis cos’x + cos*x DI AN = ?
(© 2 (©) 0 @ 3 ©) o
1l Page: 7 354995



32 The value of expression
log* —log = — log—is
08 €35 -
(A) 2 (8) 3
(00 (o1

33 The solution of equation y§ - 2y% — 15is

(A) 25, 27 8) 27,—-125
(© 25, -27 (o) 125,-27
34 .\_Fg
If tan (A + B) = /3 and cos (A - B)= X~ , the
2
values of A and B are
(A) 4Q0°,20° (8) 157, 30°
(©) 45°,15° (o) 60°, 30°

[71])
t

The HCF of  two polynomials
p(x) = 4x?(x*-3x + 2) and

q(x) =12x(x - 2)(x? -4 is 4x(x -2).

The LCM of polynomials is
(a) 4x(x —2)

® 12x2(x? —3x+2) (x*+4)
© x2(x2-3x+2)(x*—4)
(© 12x2(x? —3x +2) (x* — 4)

36 The value of

15
.‘IE+Y-"2'6+\E6_\/§—\/§E
@ (5(2+v2) ® V5(5+v2)

(© \'g(l - \i) (0) \f’§(3 + \/f)

e

2 logﬁ—IOUZ—_— log; PTAA T -
(A) 2 (8) 3
© o (D) 1

33, AP0 y§ﬂ2yé=15ﬁﬁ%
(A) 25, 27 (8  27,-125
() 25,-27 (0) 125,-27

w afy tan (A + B) = /3 I cos (A -
B) = ﬁﬂaﬁAGﬁTBﬁmg

15°,30°
607, 30°

p(x) = 4x?(x? — 3x +2)

2)(x2—4) W

4x(x -2) & JEWI B 9. g -

2
(A)  40°,20° ()
(0 45°15° (D)
5. @Y ggdal
AR q(x) = 12x(x -
HAT.
) 4x(x—2)
B 12x2(x2-3x+2)(x*+4)
© x2(x?-3x+2)(x*—4)

36

THIMIIER

(D)

12x2(x2 —3x + 2) (x* — 4)

15

V10 + v20 + V40 — V5 - V80
T AA B -

(A)

()

V5(2+v2) ®

VE(1+v2) ©

V5(5 + V2)

v3(3 + \’ri)

Page: 8



37 Find equation of line passing through the lwo a7
points (3 5)and(—4,2)
|
(A 3x —7v+26=0 |

|
8) 3x + Tv+26=0 i
|

© 7y — 3\ +26=0

@ 3x-7v+62=0 |

2 . |
38 The area of circle whose circumference is equal | 38

to the perimeter of a square of side 11 cm is
(A) 134 cm* (®) 124 cm?

© 144 cm? © 154 cm?

32 The perpendicular

paraliel fines 3x -4v-6=0 and
6x —8v + 7 = Qisequalto

{A) 19/5 unit (8) 10/19 unit I
{0 19/10 unit (D) 19/2 unit

<. The length of sides of a triangle are in the ratio | 40.

3.4 :5 and its perimeter is 144 cm. The area

of triangle is
A 764 cm? (8) 864 cm?
O 664 cm? ©) 684 cm?

¢t The earth makes 2 complete rotation about its | 41. g‘eﬁ’[

axis in 24 h. What angle will it turn in 3 h 20
minutes ?

distance bet\-meen two | 39,

A fgdt (35) IR (—4,2) T T
WA dleft Y@ @ whieeor &

A 3x-7y+26=0
B  3x+7y+26=0
© 7x-3y+26=0
@ 3x-7y+62=0

U gd BT 8T fhaar & Rradt gk,
1 cm YT d1a a1 & aveY & 2
(A 134 cm? () 124 cm?

© 144 cm? (D) 154 cm?

N AR YER 3y 44y —6=0 IR
0 &g ae &

(B) 10/19 unit
(P) 19/2 ynit

6x+8y+7=

(A) 19/5 unit
(€ 19/10 unit

frger & yomelt @1 Ud 3 : 4 : 5 B
IR SUB IRAMY 44 cm B A SHIH
&% T B8R ?

(A 764 cm? (B)

864 cm?®

© 664 cm? (®) 684 cm?

JTR A W YHA g TP dEex [/
FYA W 24 °UC @R ®, @ 98 3 HUC
20 fiFe # fbam @ g

(4) None of these (8) 50° (A) Prg T8 (8) 50°
(€ 120° (D) 130° © 120° (o) 130°
[
|
Page: 9 354995
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42

43

S IftanB +sinB=m and tan B - sin 8 = n. Then

-

—_—

IfA= 41+ fthen the value of A + i is
(A) 1 8) 4x2+1
{C) None of these (D) X

4x? + 1

The median of the following data 25, 34, 31,
23, 22, 26, 35, 29, 20, 32 is

(A) 22.5 (B) 29.5
(©) 30.5 (D) 27.5
Find the value of complementary angle of 75°
(A) 85° (8) 15°¢
(& 30° (D) 45°

the value of m~ — n?is

(A) (B) 4 mn

®) 4y/mn

vinn

© 2ymn

The wvalue of x-—2-) (x2+2+ —4—) is
x 12
equal to
(A) 3 4
x*+2x+ —— 8
p 4
{B)x3___
x3
() 8 (0
X3+—— ]xa____
x3 x?2

43.

A A= ax+ i@ A+ BAT Y

(A) 1 (8) 4x°+1
4x3 +Xx x

© @ T8 ° __x

4x2 + 1

fr siiwsl @ Hwifea®T € -

25, 34, 31, 23, 22, 26, 35, 29, 20, 32
(A) 225 (B) 295

(€ 30.5 (D) 27.5

BT 75¢ B P TS DI I 7 &

(A) 85° (8) 15°
© 30° (0 45°
- 4fE tan @ + sin @ = m IR tan g -

sSNn®=nN& @A m2—n2 & AF &

(A)/mn () 4 mn
©  2vmn ®  4ymn

(x~%) (xz+2+ i)iﬁl“lﬁ%’

A . 4
Xx*+2x+ —— 8

X
(B) 5. 8
x3
() 8
x4+ — > > = -
x3 x*
Pl



7 The value of X{IOS y - log 2} ) Y{ log 2 ~ log x) \ 47. X(Iog y - log 2) (log 2~ log x)

(log x - log y)j
o is equal to

(A) 0 (8) 3
(€5 (D)1

48. A and B can do a piece of work in 72 days. B | 48.

and C in 120 days and A and C in 90 days. In
what time can A alone do it ?

x Y
llogx—logy) qeaR & -
(A) o (8) 3
(© 5 (D) 1

(A) 110 days (8) 120 days A Il 9§ I B foa = % svm
(©) 60 days (D) 55 days (A) 110 f&=t () 120 fa=Y %
(© 60 f&A7 & (0) 55 f&A} &
“ (x + 3) = /3, then the value of |* zf (I 4+ l) - VE o (1.3 3 L)
x o x3
(.1'3 + l) will be Colk S
- ~ (&) 3(y3+1) ®) 343
(&) 3(v3+1) (8) 343 B
© o ©)  3(v3-1)
© 0 (©) 3(v3-1)
0 1f V3x —2 =2V3 + 4, then the value of x |50 AR’ /3, 2 -2 /344 O y B AN &
is _ @ 143 ® 2(1+ V3)
A 14+ V3 ® 2(1+ V3) 3 3
@ 1-v3 ® 2(1 - V3)
© 1-v3 ®) 2(1- V3)
Page: 11
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51

R

SECTION - Il
PHYSICS

Two resistances combines
provide 50 ohm resultant resistance and when
it combines in parallel order provides 8 ohm
resultant resistance. Then the value of each
resistance.

{A) 21 ohm and 29 ohm

{8) 10 ohm and 40 ohm
{C) 20 ohm and 30 ohm
(D) 15 ohm and 35 ohm

A ball is released from the top of a tower of
height h meter. It takes T seconds to reach
ground. What is the position of ball above the
ground in T/5 seconds ?

(A) 25hm (B)

(C) 24hm (D)

h
— m
Z5
24
—hm

25

in an L-C-R circuit, 100 volt alternating voltage
is applied between end points. In circuit
inductive reactance is XL = 20 ohm,

capacitance reactance is XC = 20 ohm and
resistance is of 5 ohm. The impedance of circuit

will be
(A) 20 ohm (B) 5 ohm
() 15 ohm (D) 45 ohm

The capacitance of a capacitor is 3 uF. If 108 uC
charge is available in it, then what will be
potential difference between plates ?

52.

53.

fifas I

wid A wE H ARGy
S & ar 50 3 "E B ARE e
Y & g 99 I AR P A Siey
gfeREt &1 719 Brm -

(©
(D) 15 3 2R 35 3IH

wF §fcl, h S918 & T4 $ M A oiF
St & o 9HF 9% 9g9d H T Aave
H1 GHT odl & | T/5 AdUS 41§ dicd P

o @ g el
(8) h
(A) 25 h =t ol
25
(D) 24
(© 24 h o A%
25

WL—C—RqﬁqEIa?ﬁaﬁa?é’ramoa‘R
w1 geTadt fug omar T § | uRud #
JRor wfrae XL = 20 3W, @iRd

gfTETd XC = 20 W o g akRE
R = 5 3 & | uRuxr & ufaren &l -
(A) 20 3IH (8) 5 3
(© 15 3 (D) 45 3

s WRE @ aiiar 3 oF £ | AR T
1oauc$ran3‘a€fﬁﬂ‘mﬁa'a%té€’f
& &g fayarR 8rm -

(A) 324 volt (B) 224 volt )
324 T (B) deT
(C) 36 volt (D) 24 volt 224
(© 36 dre (D) 24 gl
e
Page: 12 -
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. One proton enters in a magnetic hiekt of 2500 » UH WA 2500 .;ngquam;lﬂ i
N / Amp - m intenuly with velocity of mhq,‘xm,r‘mmﬂm

1 x 107 m/sec n paraliel of idd The force
4 ¥ R gdm awar & | WA W

exerted on proton will be WA 4t @1 " Arm
iA) ON ® 48 x10 N M= apes
© 048 x 10 °N ©® 48 x 10:°N ®48 x 1010 HzA

Q048 x 10 1 e

©48 x 10" 9

% 100 gm of water at 60 "C s added to 180 gm | %6 g0 =c AT & 100 MH U B 95 ag
of water at 95 °( The resultant temperature g} 180 T art ¥ R W &, @

o minture ts o1 &1 oRomdt G @ -
W 80 °C ® 825°C W 80°C (8 825°C
@ TT5°C © 85°C @ 775°C ®)  85°C

- Two unlike parallel forces 2 N and 16 N act at |57 T IR A 41 2 N 3R 16 N &
the ends of 2 uniform rod of 21 cm length. The, 21 @ o™l B & ﬁ{ﬁ 4 T |
mmmmresdtantofthesetwoactisat! ﬁlﬁiﬂﬁw {vﬂmﬁlﬂ
z distance of from the greater force. | w® I A g b1 gRum ad FE
) & cm (8 3 cm B )
© 2 em ) LA 4 A ®) 3 I

© 2 I (©) 1 I

# Wagnenic flux of 2 20 round coil is reduced to |58 T& 3 W B PUScAl A dg gEIE
o from 0.2 weber in one second then the| W1mﬁ0.3aﬂ\'ﬁﬂ3ﬁﬂ

nduced e.m { between the terminal of coil | o G 3 @ FuEA F AR B 4
W 1SV ® 6V - 9Ra fe@ aE® 4 (em.f.) BW -
@ 25V ©) 3V W 15 A ) 6 diee

© 2.5 alce ) 3 diee

w Th{-eleanche]dsuengthatapmmman%Wﬁqﬁ&‘ﬁiﬁﬁﬂﬁﬁﬁﬂ?@@ﬁ
electric field i 30 N/C. Find the force| @1 digdl 30 =[e/pei & | ¥ g W

experienced by a charge of 20 C atthatpoint | 20 el & 3T W AT dTelT dol &
(A 600 N (8) 30N - W 00 e (8) 30 =qe-
() 20N (D) 300 N | € 20 =geA (®) 300 geH

- — 3 354995
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80 A particle is moving along a circular track of
radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is
A 1:1

B) 1:1

© 2:n (0) :2

st A car of mass 2000 kg is moving with a velocity | 61.

of 18 km/h. Work done to stop this car is
(A) x 10%joule(® 25 x 10° joule

- -
P |

© 25 x 10*joule® 25 x 107 joule

If radius of Earth shrinks by 4% and mass of
of

8]

Earth unchanged, then the value
acceleration due to gravity will be changed by
(A) 16% (B) 8%

€ 2% (D) 4%

sz A spherical mirror and a thin spherical lens
each have a focal length of - 15 cm. Nature

of mirror 2nd lens will be
(A) Both concave

(B) Mirror convex and lens concave
(T Mirror concave and lens convex

(D) Both convex

5 A stone is gently dropped from a height of
20m. If its velocity increases uniformly at the
rate of 10 m/s?. With what velocity and after

what time will it strike the ground ?
(A) 20m/s, 2 s (B) 10m/s, 20 s

Q) 10m/s, 2 ¢ (D) 20 m/s, 20 s

B62.

63.

s & 1 W BT $ gAER ®™ R TP
A AT W A H @ E | P ERT
SET aFER M W det TR g W@
fawmgs # IuE B -

w  1:1 | m:1

(c) 2: T @ m:2

(A) 25 x 105g= (B 25 x 10° %=

© 25 x 10%g= (@ 25 x 10°w=

I it @ o 4% Rigs 9@ @
s ¥ P gRgdd T 8B a oy
RO & A F qRads & -

(A) 186% (B) 8%

© 2% (D) 4%

TP TMellg YT SR TH gaden Melld of¥
TRAE B BIHE GO 1555 © | qUOT W
o B -

(A) AT 3rade

(B) TUUT Sdel R o9 rqde

(© gdur 3qddd AR ol Idd

(D) SHET A

UH GRR 20 @t B SHais 9 Rmm S

2| iR & SRM 9=R H AT
105/ M W ¥ dedl & | B W

THIS THI YRR Bl dF UG AW IHT

BRI

(A) 20 #HIA, 2 ABUS

(8) 10 /A, 20 AHS
2 UPUS

(© 10 #/,
(0) 20 #H/RA, 20 AHTS

IR

Page: 14
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ss A sound wave has a frequency of 500 Hz and | &5

wavelength 80 cm. How long time will it take to
travel 1 km ?
(A) 2.5 seconds (B) 25 seconds

(€) 25 minutes {D) 2.5 minutes

& In a simple pendulum experiment, a student
calculate the value of g is9.92 m /s? but the

standard value of g is9.80 m/s? then the
percentage error in the calculation of g is
(A) 1.42% (8) 1.32%

(€ 1.12% (D) 1.22%

&7 A charge of 10 coulomb is brought from infinity
to a point P near a charged body and in this
process 200 joule of work is done. Electric
potential at point P
(A) 10V

(€) 200V

(B) 100V
(D) 20V

5 Heat (in calorie) required to increase the
temperature from 10 °C to 20 °C of 6 kg

copper is same as heat (in calorie) required to
increase the temperature from 20 °C to

100 °C of 3 kg lead. If specific heat of copper is
0.09 then the specific heat of lead will be

500 ®&of w g0 A avmaed @l
TE w@fy e @ 1 fod g 9 A A
THG

(A) 2.5 AHve

(© 25 fiFe

(8) 25 WHUS
(0 2.5 f9e

- fRft B3 gRT Wa ded FTOTAT A

THY TOHET §RT /g &1 319 g 92 m/s?

W< BT ® | SEfe g BT WG A
980m/s2 & | @ g & WA & AHad

# uftrera Ffe anft -
(A) 1.429% (B) 1.329%
© 1.12% (D) 1.22%

10 FIM IQAY B IFW W TE R

T & WY fag P Gd A9 W 200
g & AT vsal & | g P W

fagga fawa &mm -
(A 10 dree (B) 100 dlee
(© 200 dcc (0) 20 9

-6 fbur dld & awEE 10°c ¥ 20 °C

TF oM ¥ Iat & SA ST B
ETgHal & &, N & 3 e
P A9EH 20°C W 100°C TP A H

JETHAl B & | Afe die FHr AR
ST 0.09 B, a1 9 &t AR wwr

(4) 0.033 (8) 0.022 arft

(©) 0.044 (D) 0.055 (A) 0.033 (8) 0.022
(© 0.044 (D) 0.055

Miutine Page: 15
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|
68 VY, Vg, Vi are the velocities of violet, red and |69 B U s 4 a"‘Fﬁ, RIGH Q’a I

70. The gravitational force between two masses

7

72

73,

|
green light respectively, in a glass prism. Whlch [
among the following is a correct relation ?

(A) \\r == VR < VG (8) Vy = VR = VG

(©) \?‘r < VG < VR (D) V‘r = VR => VG

kept at a certain distance is ‘P’ Newton. The
same two masses are now kept in water and
the distance between them are same. The
gravitational force between these two masses
in water is ‘Q’ Newton then

A P >Q (8) None of these

@© P=Q @ P< Q

100 joule of heat is produced each second in a
4 ohm resistance. Potential difference across
the resistor
(A) 40V

(€ 20V

(B) 100 V
(D) SOV

An object 4.0 cm in size, is placed at 25 cm in
front of a concave mirror of focal length 15 cm.
At what distance from the mirror should a
screen be placed in order to obtain a sharp

image ?
(A) + 25 cm () + 255 cm
(60 —355cm (D) — 375 cm

An object is placed in front of a convex lens of

70.

71.

T2.

73.

g @ a1 wE G, Vg, Vg & @
e 4 91w g 9dl § 2

{AIVV o VR < \”G {Bl VV = VR = VG

a‘ramﬂmﬁhquﬁﬁﬁrﬁaﬁqﬁ

® Rod € & dF § Tawtn @ P
ed € | T M gemEl B g A
T @R A WA g8 W @ W
TEETHYY dd Q¢ ~ged & a -

(AP > Q BT q P T8
©P = Q PP < Q

4 3 9o # 9fd AFTS 100 A FE

IO H ardt 7 | ufeRm % RRI W
favarar g -

(A) 40 dree (8) 100 dIee

(© 20 dree (©) 50 dreT

UH 4.0 O FHR P a] 3Addel Ul
e wea it 15 ¥ 8 & UR@
250 I 0 W g & | Tduwr @ few
N W & gl 3@ 9 & awg & feor
gfafare a9 a9 2

(A) + 25 &# (8) + 25.5 &h

(€) — 35.5 & (D) — 37.5 &H

focal length 12 cm. If the size of the real image & g Rea & | Iy arafas ufafase
formed is half the size of the object, then the Pl APR, 95 ® JHR BT oImT B, ar
distance of object from the lens a%g o o9 ¥ g arft
(A) 48 cm (8) 36 cm (A) 48 A+ (8) 36 [
(€) 26 cm (o) 30 cm (© 26 9 (0) 30 I

Page: 16
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A body weights 75 gm in air, 51 8M when 74

ey

completely immersed in unknown liquid and &7
gm when completely immersed in water. Find
the density of the unknown liquid

W 4gm/cm® ® ggm /oy
© ggm/ m® © 3 gm /cm?

A wooden block of mass 6 kg is pulled across a | 7s
rough surface by a 54 N force against a friction .

force F. The acceleraton of the block is
4 m /s then the value of friction force Fis
(8) S4N

{A) 36 N
8 ©ISN

(O 18N

T

@ fug @1 gar § gewE 75 gm © |
HIA 29 F qf Fg F g W 51 gm

T 9 X g7 gm & | @ Tq @
9T ® -

(A) 4 gm /cm3 (8) 6 gm / cm'ﬂ

(€) 8gm/cm3 (D) 3gm/cm3
efawma'ﬂqaimﬁaﬁaa
WU 4l P ¥ Rve 54 N 9 ERT &
G Wa® R Har e & | it @
R w228, A T 47 F B 7F
BT

(A 36 N ®) 54 N
© 18 N D) 9 N
Page: 17 o
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SECTION - 1lI

CHEMISTRY

76 Fiectronic configuraton of copper can be 76
represented as

(A) [Ar]4st3d*® 8 [Ar]4s3d”

(@ [Ar]4s°3d%4p® (@ [Ar]4s°3d'%4p? |

l
Which among the following pairs are not 77
having same number of total electrons ?

(A Na*and Al?* ® Q< andF-
(@ Mg“" and ! © pP-% and Ar

< o
The half life period of a radioactive element is |78

i - 11

PR & FAdgi-ad A uelfa fear
Wi dhdl &

(A [Ar]4st3dto (8) [Ar]4s23d°®

(©[Ar]4s°3d%4p' (P)[Ar]4s?3d'94p!?
fefoRea & 4 a9 @1 gm e
AT AT dTT 7T & 7

(A Nat=wAIP* (B 02" E-

(© ®) P2 ar

S A¥Afded aw@ B AGIGBA 150

Mg?™ = Ar

150 days. After 600 days 1 gm of the element| f3F & | 600 fRF I 1 gm w9 <@
will be reduced to ' NI
w 1 (8) 15 LA 1 (B) 15
3 & 16 &0 ; 32 16 &
fa] i (D) i ‘ (C) 1 (D) 1
g B 16 & | g o 16 °
"= The number of molecules present in 2.8 g of |79. 2.8 g EIEASE ] IRt B IuRerd e
nitrogen s g -
&) 6023 10~  (8) 6.023 x 102 A 6023 x10% (8)  6.023 x 10
O 6023 x 10 (©) 6.023 x 10% (©  6.023 x10* (®  6.023 x 103
% The common name of 2-Butanone is 80. 2-FEAM B WHRT AT ¥
(&) Acetone (8) Butyraldehyde (A) T (B) gffesarse
(0 Acetic anhydride - O tRifReE weEeEe
(D) Ethyl Methyl Ketone - O 3UIEd R dem
|
|
!
Page: 18 354995
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e

& The lUPAC name of
CHs

|
HC=C— C—CHjis

|

H

(A) 3-Methyl-1-Pentyne
(8) 3-Methyl-4-Pentyne
(c) 2-Ethyl-2-Propyne

(D) 3-Methyl-5-Pentyne

Essential constituent of an amalgam is
(B) Silver

82
(A) an alkali

(c) Mercury (D) an alkali metal

% Equivalent weight of a dibasic acid is 12. Its
molecular weight is
(A) 6

(€ 24

(8) 12
(D) 48

3 In the following reaction

S0, + 2H,S——» 35S+ 2H,0
(A) Sulphur is reduced and oxygen is oxidised
(8) Sulphur is both oxidised and reduced

() Sulphur is oxidised and Hydrogen is reduced

(0)Hydrogen is oxidised and Sulphur is reduced

® Which of the following types drugs reduces
fever ?
(A) Analgesic (B) Antibiotic

(©) Tranquilizers (D) Antipyretic

) AT

— Pag 19

I
HC=C~-C —CH,®T IUPAC ™ ts

l
H

(A) 3-fEmgda-1+Iersa
®) 3-RAFd-4-Y<ZT
(©) 2-Zerget-2-SrE
©) 3-frRmge-5-drereT

82. IHATH & H&A °UCdh &
) 16 ar (8) ardt

© grr (0) T &R g
% feifes aper &1 gouiat WR 12 © |

FUDT IJVHR BT -
A 6

(€ 24
84, o arfafepan #

83.

8 12
(D) 48

SO, + 2H,S—— 35+ 2H,0

(AT & 9939 9 AR T
Sifefrevor g3 ¢ |

B)FSHR B AN T4 AGqq9 QI
T T

(O FePpR Siiipd Td eggoHE  Jqarid
g e |

(OIgrggoA JRPd W@ TeBY AT
e

s P O IAEAT AR FH A & DA

it € ?
(B) TEerafes

(&) THANRS
© FrRgeTES (D) TERRCS

354995



85. Hydrocarbon used for welding purpose is
{(A) Ethene (8) Ethyne

(€) Ethane (D) Benzene

87. An example of thermosetting plastic is

(A) Polythylene (B) All of these
(C) Bakelite (D) PV.C.

Which of the following order of ionic radii is
correctly represented ?

(A)H->H*">H (8) Na* > F~ > 0%~

(€ F- >0 >Na"

(0) AI®* < Mg** < N3~
8¢ Amount of copper deposited on the cathode of
an electrolytic cell containing copper sulphate
solution by the passage of 2 amperes for 30
minutes — (At. mass of Cu = 63.5)

(A} 1.184 gm (B) 0.2214 gm

(€) 2.214 gm (D) 0.1184 gm

Which catalyst is used in oxidizing NH; in

Ostwald’s process ?
(A) Pt
Q V.0

(B) FeO
(D) Molybdenum

¢l Real gas behaves like ideal gas at
(A) None of these () Low temperature

Q) High temperature (D) High pressure

86.

87.

89.

90.

91.

afec # wEd EEgIPET €

(A) gfi= (8) I3+

© wie (D) &5

RIS WiifRed &1 U IETERVl & -

(A) Giefrefg (8) J W

(€ dFarze () pV.C.

Iafe ot & fav fFA=folRea 4 @
P AT S BH B ?

(MH- >H*>H (B)Na* > F~ > 0°~

(OF > 0%~ > Na*

(D)AI** < Mg?* < N3-

PR Tohe A Fa &A1 faga smweh
Ad ¥ 2 R H grT 30 fre d@
Yaifdd e’ W HUE W WIEd PR Pl
HAEAT & - (BIR BT WA HR = 63.5)

(A) 1184 gm (B) 0.2214 gm

(€ 2.214 gm (D) 0.1184 gm
divcdics ffr & sEfar (wH,) &
SRR § Yo SSRS ¥

(A pt (B) FeO

(© V,0, (D) Hicfles"H

adfde M ey W H @ve @9Er
Pl

(A) 379 F BE T8

(8) 91 THE W

(O J=7 9 R (D) I=9 g9 ®

L
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@ Therate of diffusion of a gas is r and its _—

a

97

Vi

e~

e -

s d, then under similar conditions of pressure
and temperature
) rxd (B) vd
D 1

d vd
among the following, ionic hydride is
{A) BH; (8) PH;
© MgH; (®) SiH,
Detergents are the salt of
{A) Carboxylic acid and Sulphonic acids or alkyl

hydrogen sulphates both

(8) Carboxylic acid
() Sulphonic acids or alkyl hydrogen sulphates
(D) None of these
Hardness of water is due to the presence of
(4] Sodium and Potassium salt
(8] Calcium and magnesium salt
(© Lead and copper salt
(D) None of these
'n which of the compound oxidation number of
oxygenis +2 ?
I:l] F:O {B) Naz 02
© K.0 (©) 0,
F.C = CF, is a monomer of
(&) Nylon-6 (8) Buna-S
9 Teflon (D) Glyptol

95,

97.

?ﬁdta‘rwaﬁr\fémﬁmﬁ

W meod (®)

r<+d

2 1 (D) 1
g r o —
¢ Vd

= R # % s s -

(A) BH3 (B) PH3

(C) MgH2 (D) SlH4

%ﬁ?:{{ a'a-u-I _%_ _

Wil srd T wewifre awet
Ufepel TSRO Aotbe 2T

(®) praferefers st

OWPE ot W o
e SECIER]

1Y 7

Al B FSRA HT RO &

(A) wifey qer MRRrm aqur

) it T &R e

© % wd TR aqu

@ 37 & P &

P & @ Rt s # sifeRfor ¥ R

(A)  F,0 ®  Na,O,

© K,0 © o,

F,C = CF, (9® & -

(A, T-[]'Jﬁ’-‘-[—e Gl lBl EET-S -

(€ 2gATT BT () Rt @
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s 10.0 gm CaCO; on heating gave 5.6 gm of Ca0 | % 10.0 gm CaCO; W @A W 5.6 gm Ca0
vd 44 gm CO,SN g | f&@m wan

siper Fram & awdT &Ral -

and 4.4 gm of CQ., given data support the

law of

(A) Multiple proportion () TR Srard (8) ReR Iurd
(8) Constant proportion © =g T SflREr &1 fras

(€) Law of conservation of mass ) T

{D) All of these

99, Cracking is a process used for change in 9. o Wipar AN ¥ I & uRafda &

(A)Higher molecular weight alkane to lower $ forg

molecular weight alkane (AIF= ATHR dldl Yobd &I 19 AHR
dTel Qoo H

®) FEHE B Ufeseizs 7

(€ Tobd B WHeH sEgIdEd H

(D) Teplgicd Bl Ufeserge A

100 An organic compound contains carbon =[100 % Hdfe g H BT =  38.71%,

(8) Ketones to aldehydes

(C) Alkanes to aromatic hydrocarbons

(D) Alcohols to aldehydes

38.71%, Hydrogen = 9.67% and Oxygen. The| EEgIH = 9.67% aT JRitoE & |
empirical formula of the compound would be Al &1 AU A BEN

(A) CH.O (8) CH,0 (A)  CH,0 (8)  CH,O

© CH.0 (o) CHO (0  CH,0 ()  CHO

ITNHIrY
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